Part-A/A1T—31

MENTAL AB

ILITY/ ar=fie aivadr

Directions (Q. No. 1 to 3):

In each of the following questions, a set of figure carrying certain characters 1s given. Assuming

that the characters 1n each set follow a similar

fader W, 1 9 3)

pattern, find the missing character in each question.

T A T s U A T AGfa H IS el 1 g B I8 Fed iy b s

e ol MR e | = Y81 § S9l &l & H YEd 8¢ e UeH &1 Bl 83l b S

HITT |
i Ky
‘ 8 2 |
(A) O (B) 8
2.
21
4 5
(A) 14 (B) 22
3. €
& &
4L (14
(A) 123 (B) 124
4.

(C) 125 (D) 216
4/ \8
10
(C) 32 (D) 320
C) 122 (D) 112

There are five different houses A to E in a row. A 1s to the right of B and E i1s to the left of C

and right of A. B i1s to the right of D. Which of the houses is in the middle?

(A) A (B) B

(C) C (D) D

urg A= 969 A ¥ E f&dl ta ufd

THE| A BPSHSINRE C P I d2m A &

TR 2| B,D @ T 8| ®FAT AbE 7 H 87

(A) A (B) B
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5. In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the

lowest 1n the group. Who 1s second in the descending order of marks?

(A) Priya (B) Kavita (C) Raj (D) Mukesh

<l o¥iET H XS A b W SGIGT b Ui b ifd Sa+ w2l o= o |, g 7 kg
3R BIAdl | SIIET 3 U< B | TRT 7 5 H A 3D U B i IHD 3 B
Y HIH HH B § | 3] DI gite H TS HH H SHM U DM TAX VI TR 3YT |

(A) foar (B) faar (C) (D) HHu

6. Looking at a portrait of man, Harsh said, “His mother 1s the wife of my father’s son. I have no

brother and sister”. At whose portrait was Harsh looking?

(A) His son (B) His Cousin

(C) His Uncle (D) His nephew

U%h JMSH & & &1 AR @d Y 89 o Hal "SED! A1l AR fUdil & 43 &1 9fcd 21 N
Plg 9IS IT 9849 A8l & | 8Y fhud =T &1 3R < V&7 2Ir?

(A) S TF DI (B) S9d TR s DI
(C) SHD I DI (D) SED HdN D

7. By selling an article for ¥ 110, a man loses 12%. For how much should he sell i1t to gain 8%?
(A) X120 (B) X125 (C) X135 (D) 140

f¥ a%g DI 110 TH 997 W 12% DI B Bl 2| 99 I8 TR 8% BT oM oH & folg SA
Had BUd | 99T JIN?

(A) X120 (B): <125 (C)y <135 (D) 140
8.  The price of an article has been reduced by 25%. In order to restore the original price, the new

price must be increased by how much percent?

1
(A) 12% (B) 335% (C) 25% (D) 30%

hdl I&] BT oI 25% T Wl 8| 39 T Jod H fbad ufded & gig &1 9 fb 9o

qed T 81 97

(A) 12% (B) 33%% (C) 25% (D) 30%
9. If EAT is written as 22 26 7, how will you write LIP?
(A) 151416 (B) 1417 10 (C) 91211 (D) 151811
gfe EAT &I 22 26 7 for@r 90 @l LIP & &9 forar Seer?
(A) 151416 (B) 1417 10 (C) 91211 (D) 151811
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10. Mohan 1s 4 times as old as Shyam. If the difference of their age 1s 9 years, how old 1s Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years
Higd @1 A WM W IR AT 2| AT ST DT AT BT =<K 9 99 &l Al AR fbad a9 HI
g7
(A) 15 99 (B) 12 @y (C) 14 d9 (D) 9 dy¥
Directions (Q. No. 11 to 15):
Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

fader (M. 4. 11 9 15) :
TR A M T A R () @ 970 NG SHI US & W= d@ Bl ggAI-d da8l db Tld
yee | =g () @ SR 9% dlel SFI UGl UR W] B 9D U & folg §al Aoy &1 99+
DY |

. ACEZ£XY : EHI :

(A) SOQ (B) USP (C) TRP (D) USQ
12. BYW:DWU :: FUS :

(A) HSQ (B) EST (C) GST (D) ESQ
13. MORE : NNSD :: CRAW :

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
14. MONKEY : XDJMNL :: TIGER :

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UJHES

15. CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

16. If air is called green, green is called blue, blue 1s called sky, sky is called yellow, yellow i1s
called water and water 1s called pink, then what 1s the colour of clear sky?
(A) Blue (B) Sky (C) Yellow (D) Water
i &4T I B, B DI AT, Sl DI IATHIL, ATHET DI Yrell, Ylell DI I, YT DI JATd!
$HE] WY Al el /Ah JATHTE BT I T BATT?
(A) e (B) 3ATHT (C) dlell (D) I

17. In a certain code ‘786’ means ‘study very hard’, ‘958" means ‘hard work pays’ and ‘645’
means ‘study and work’. Which i1s the code for ‘very’?
(A) 8 (B) 6 (C) 7 (D) 4
frdr Al¥=a oIe | 786" 1 ISl A9l 8IS’ ‘958" Pl ‘BIS db UGl IAN 645 Bl Tl UTS
9P’ Bl WY dl ‘' b g a1 Hre qNT?
(A) 8 (B) 6 C) 7 (D) 4
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18.

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday

(D)

Tuesday

afe 15 SHaN! 2004 BT IfAIR 2T dI 15 S9N 2003 HT T IR BRI

(A) AMFaR (B) wIffarR (C) 3EhAR
Directions (Q. No. 19 - 21):

(D)

RIS EIE:

In the following questions, three of the four are alike and so form a group, which 1s the one

that does not belong to that group?
e - 9. 19 — 21):

fFr=ifed gl |, dF d 9 IR Ud O B AR SHIY U F98 991 8 | DAl & Sl 98

BT 8l 87
19. (A) Parrot (B) Koel (C) Vulture (D) Swan
(A) drdr (B) &Od C) firg (D) &9
20. (A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) sRamn (B) IR (C) @ (D) ¥ERTE
21. (A) Potato (B) Coriander (C) Ginger (D) Onion
(A) SiTef (B) &= (C) IARD (D) WIS
Directions (Q. No. 22 - 25):
In the following questions, choose the odd numeral pair.
fader - 0.9, 22 — 25):
=i uel 4, idl & fawg g &1 fR=ifed sy
22. (A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
23. (A) 133-98 (B) 150-115 (C) 182-40 (D) 188-133
24. (A) 12:96 (B) 13:117 () 15:120 (D) 16:128
25. (A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
26. College 1s related to student in the same way as Hospital 1s related to............ ?
(A) Doctor (B) Nurse (C) Treatment (D) Patient
Aeifdared &1 [Tl |9 a1 81 Jae 8 Sl 3R9Ad BT e B7
(A) Sfaex (B) 4 (C) TS (D) A
27. Signal : Traffic:: ?:7?
(A) Dam : River (B) Lens: Light
(C) Door: House (D) Operation : Doctor
RIS : ofths = 2 @ ?
(A) €T : AL (B) o9 : BT
(C) TXaNT : HB™ (D) 3ITRIE : Siaex
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28. MXxN:13x14::FxR:?

(A) 7x19 (B) 5x17 (C) 14x 15 (D) 5x18
29. BUCKET : ACTVBDILDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

30. If in a certain language A 1s coded as 1, B 1s coded as 2 and so on, how 1s BIDDIC coded?
(A) 294493 (B) 284563 (C) 375582 (D) 394492
gfe fFd AT § A 1 & 1 8, B &1 &2 2 © AR AT 4l A &l =, dI BIDDIC &1 &He

T BITT?
(A) 294493 (B) 284563 (C) 375582 (D) 394492
31. If A 1s to the south of B and C is to the east of B, in which direction 1s A with respect to C?
(A) North—-East (B) North—-West (C) South—East (D) South— West
G AB D IRUIHZIRC, B @ HE dl A, C & Hag H fby feem d 87
(A) STR—Jd (B) StR—uf¥=®  (C) <feo—yg (D) <iewo—yft=H

32. One evening before sunset two friends Rakesh and Rahim were talking to each other face to

face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

U UM DI YA H USel &I TR YD 3R IBMH JMHA—AHA (h TR I 91d IR B |
e T &1 IRBTg UheH IS9P glaM AR 2N af Wby g fm & |am= or?

(A) ST (B) <fe&or (C) U= (D) AT YA
33. 5,7,10,15,22, ...........

(A) 31 (B) 32 (C) 34 (D) 35
34. 703,605); 607,559,951 1; 403, .visivvien

(A) 413 (B) 414 (C) 415 (D) 416

35. A father 1s, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years
U fOdn, g9 #, 39+ I | 9 O ¥s B | U 99 94 9 {99 §F | IR TN g o0
U3 DI IR T 87
(A) 12 99 (B) 15 ¥ (C) 18 o9 (D) 20 99
36, IIT5%9=144:T%x8=151:4%x06=102. then2X D = :ccciass ?
(A) 77 (B) 97 (C) 107 (D) 73
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Directions (Q. No. 37 - 40):
The figure given below consists of three intersecting circles which represent sets of students

who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

B Q
TR BADMINTION
(fr) ()
——VOLLEYBALL
CIGIEIS)

fader - (0.9, 37 — 40) :

SR I g AR d dF I<faeie g &, S [JenPal & WHEl @I SRid &Rdl & Sl
cfvg, defied IR dicdidiel Wald = | AThid H QY ¢ s &3 &I Yo BIST JeR Idrdl
2| MA@ ARR R A Y 7Y g & ITR SIRIQ |

37. Which letter represents the set of students who play all the three games?

(A) b (B) ¢ ©) f1 (D) g
BT JeR Aol & S FHE BT ST & Sl diFl ol Weold 87
(A) b (B) ¢ ©) 1 (D) g
38. Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?
(A) ¢ (B) e €) c (D) b

a1 e e @ SS9 ¥g &1 Tl & Wl A9 3R dfelldid Wold & IR dsfaeH
Tl

(A) g (B) e (©) c (D) b

39. Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?
(A) a (B) b (E) @ (D) d
Il JeR Tl & SS9 §Hg DI QAT & Sl S Wold & IR AT ol defie 3R =
g1 dicfrariet ?
(A) a (B) b (C) © (D) d

40. Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?
(A) b (B) ¢ (C) d (D) f

T 3feR Il & 9 WHE DI TGl & Sl i\ IR dSfA<d Weld 8 R diciieid
TBl?
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Directions (Q. No. 41 - 43):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B
were teaching History and French.

fader - WE. 41 — 43) :

U faermerd § U Rere 20| A iR B 2= 3R 3USi 9gl %8 21| C 3R B UG AN e
el X2 2| D 3R A TIfUrd 3R f2<1 ugr %8 21| E 3R B SiUer 3R % Ul X8 o |

41. Who among the teachers were teaching maximum number of subjects?
(A) A (B) B () € (D) D
Rrere! § | ftiead favg &4 uer 8 o7
(A) A (B) B (C) C (D) D
42. Which of the following pairs was teaching both Geography and Hindi?
(A) AandB (B) B and C (C) Cand A (D) None of these
== A 9 B9 P IR 21 SF UgT I8 o7
(A) A 3R B (B) B 3R C (C) C 3R A (D) T4 | Dis A8I
43. More than two teachers were teaching which subject?
(A) History (B) Hindi (C) French (D) Geography
3 ¥ 3fte Ree si=ar [duy ger w8 2
(A) sfasr (B) &l (C) ™4 (D) *FTe
Directions (Q. No. 44 - 45):
Arrange the given words 1in a meaningful sequence and identify the most appropriate sequence
from amongst the alternatives.
fder - 0.9, 44 — 45) :
fQ 717 eIl &I Yob 31AYel 9 H SHRd AR QY Y fdweul § A |alftls Sugdd 54 &l
fefga @ifoq |
44. (1) Appendix (1) Contents (111) Title
(1iv) Chapters (v) Introduction
(A) u,u,v,i,iv. (B) mu,iv,v,1 (C) v,nv,n,m (D) m,u,v,1v,1
(i) URRE (ii)  STIshAIUTD] (iii)  2N®
(iv) I (v) UR=g
(A) ni,1,v,1,1v (B) n,uiv,v,1 (C) voiav,u,m (D) i, v, v, 1
45. (1) Punishment (1) Prison (111) Arrest
(1v) Crime (v) Judgement
(A) v,1,1,1ui,1v (B) 1v, 11, v, 11,1 (C) 1v,u,v,i,1 (D) 11,111,1,1v,V
(i) T (ii) g (i) FRTR
(iv) STOXET (v) faoig
(A) v,i,u,u,1v (B) 1v, 1, v, 11,1 (C) 1wv,m,v,i,u (D) 1,11,1,1v,Vv
46. How many times in a day, the two hands of a clock are at 90°?
(A) 4 (B) 12 C) 22 (D) 44
% feq # fdhae! aR, TSI & ]I 811 90° WX BId 87
(A) 4 (B) 12 (C) 22 (D) 44
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47.

48.

49.

50.

Directions (Q. No. 47 - 50):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

fder - (W, 47 — 50) :

1 U U URAP YT A PUH 1 R 2 B 95 Ay 1 Sk 2 2| f=pul &7 ufeu ik
Aoty hfsie 6 9w =py U 1T 1 $2Ml & JMRIN OR dhEid & |

(A) TT daa A=y 1 T B (B) Ife &aa fA=py 2 ! 2
(C) Ife fA=pd 1 a1 2 WS 8 (D) Ife f=pd 1 IR 2 THI Toad 2
Statements : I. All fans are watches.

2. Some watches are black.
Conclusions: 1.  All watches are fans.

2.  Some fans are black.
BT 1. 9¥ 99, ufSdr B |

2. B °fSdl BTell 7|
frspy 1. 9 afsal 99 |

2. TP UE HT B |
Statements : 1.  All grasses are trees.

2. No tree 1s shrub.
Conclusions: 1.  No grasses are shrubs.

2.  Some shrubs are grasses.
B 1. 99 O 98T & |

2.  BIy &l ATS! 7al 7 |
faspy 1.  Pls TN TSI 1 & |

2. Y HANSAI U & |
Statements : 1. Some boys are thieves.

2. Some students are boys.
Conclusions: 1. Some boys are dacoits.

2. All dacotts are boys.
P 1. &Y @S IR T

2. TP dSd [dari T |
frrepe 1. &Y S dASD & |

2. I ST D % |
Statements : 1. No man is a donkey.

2. Rahul 1s a man.
Conclusions: 1.  Rahul is not a donkey.

2. All men are not Rahul.
P 1. g 91 3yreHY e T8 2

2. IEd IEHI 7|
frspy - 1. X TN A8 B |

2. I JATCHI B 8l © |
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Part-B/91iT—4d
GENERAL AWARENESS RAJASTHAN/ATHIRI SITH TSI

51. ‘Hela Khayal Dangal’ 1s famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali
BT WA ST IORIE & fbg el # ufag 87
(A) T (B) SR (C) DR (D) el
52. ‘Pichwai’ art 1s related to-
(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

ogg’ war =g 28—
(A) HRETE 9 (B) YM—HdT ¥ (C) ¥H8cd ¥ (D) =NEHwr A

53. According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer
(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu
2011 &I SINTUFT & ATAR VGIRRAM H ~gAdH Ucd dlel il 28—
(A) dSHR — dIHMR (B) SigoiN — g1y
(C) SR — dIhM (D) SHTHR — TS
S54. The first wind power plant of Rajasthan was established in-
(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur
(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
ISR &1 U2 Yaq ol a4 Rifua fear 7ar o1—
(A) AR — WHANR (B) 9SSl — IR
(C) TG — UdTIIG (D) HEATE — SIoHN
55. ‘Bari’ ornament 1s worn 1n-
(A) Neck (B) Nose (C) Ears (D) Wrist
IR’ STY0T YBT ATl 58—
(A) ol H (B) ¥ H (C) &I H (D) TS H
56. Where did the reign of Maharana Pratap take place?
(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
AERIUT Yd1Y BT ISlicdeld Dhal gl 217
(A) TGS (B) TR (C) TSI (D) HHTG

57. Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-
(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

SS9 fdg BT 9F da8d 9 vaafs | 99 SER 9 e far o1, g 95 § 98
eTSeq RISl Bl IRV H FAT 7T |

(A) g<X (B) HEAATA (C) Eail (D) d« e
58. ‘Bhomat’ area in Rajasthan is related with-
(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar

RE § e’ &5 TN 8—
(A) SEIR ¥ (B) 9iFaTST ¥ (C) g (D) IR ¥
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>,

60.

61.

62.

63.

64.

65.

What was the name of first Rajasthani film?

(A) Nyarano (B) Babasa Ri Ladl

(C) Bai Chali Sasariye (D) Mhar1 Pyari Chanana
TH ISR fhed T A 91 17

(A) fAoRmEI (B) d€EMT ¥ TSl

(C) 4915 Foil FraRky (D) ¥R YRl =0T

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

ISR & AHA & ®U | Halftlh 9R 29eT fhd «l?
(A) HAIEgdTa gEsar vd gRkag Sref

(B) =Reg Wl vad FRiflE Iramed

(C) RIRE TErad (d ERTETA QdYN]

(D) RreExe ARR 4 &R el

Degana region 1s known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
ST &3 VoE ° fow wfas & forw 9™ Srar 27

(A) THES (B) &A1 (C) TIReA (D) diIE 3D
Who 1s known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas

MSTRIF & TR @ ®©9 § fbd I 9l 87

(A) 4R &I gosyl (B) T 4T HE

(C) SIF®I AT (D) THIEY AN

Where 1s the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
IGTRIF BT UHAE Uell Rfecarery &8l &7

(A) SOYN (B) 3SR (C) pIeT (D) TIRYR

What is ‘Lag — bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
‘ART — 9FT &7 &7

(A) fafsar &1 = (B) fhami o= IR &%

(C) 99 &1 9™ (D) #AMERNE @ BRI &1 9M
Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
IGTRITE 39 I Wod | T &8 d8—

(A) 1956 (B) 1957 (C) 1958 (D) 1959
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66.

67.

68.

69.

70.

71.

72.

13.

Word ‘Rajasthan’ was first used by historian known as-

(A) Tod (B) G.N Sharma (C) G.C.Pande (D) Satish Chandra
9feg YGTRIE &1 Usell 9R TIRT, A sfae™eR g1 fhar -

(A) Tie (B) SiIgA. g™l (C) Sl @l Ule (D) ¥Rl T
Kali banga, an old historical site 1s located 1n the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
HTATGIT, S Tk VAeIe RIF 8, 98 VoRIH & fbg el § Rerg g—

(A) dIBTR (B) TR (C) TR (D) TR
The copper culture signs are available 1n the district of-

(A) Udaipur (B) Kota (C) Bundi (D) Alwar

a™ G¥hfd & e fea f5a 9 Suerer 3—

(A) SSITR (B) @Il (C) =i (D) 3reTar
The seervi, caste 1s 1n agriculture, they are found mostly in the district of-

(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
R STfa @t 9 et 8, U St fha el | urg Sl 8—

(A) PIeT (B) SR (C) SRR (D) *RAYR

Sisodias of Mewar were regarded as-
(A) Suryavanshi  (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi
e o Rraifearn &) = 7= Ja1 2—

(A) gIaei (B) =rsaeh (C) afi=aeh (D) =ArTaEh

The first formal grammar of Rajasthani was written by the following -

(A) Jayasimha Siddharaja (B) Udyotan Suri

(C) Bhoja (D) Hemachandra Suri

ISTRIMT BT Ugdll / 3g=aiRe areeer o 78, = & gRI-

(A) wiI Rt g (B) S&gIa= I

(C) ¥ (D) THIS I

Who among the following is a famous singer of the Jaipur Gharana of Music?

(A) Bhim sen Joshi (B) Jasraj (C) GirmaDevi (D) Malikarjun Mansur
T & SIAYR BRE & Ug GdeR S WM S 58—

(A) HHET Sl (B) SN (C) ARSIt (D) HAfTdNT A=
Phad paintings of Rajasthan belong to the following school of paintings-

(A) Jaipur (B) Kota (C) Mewar (D) Bikaner
ISTRIM &1 ®he FFaN], TEedr & 58 Whd 9 98! 8—

(A) SR (B) @It (C) #HarS (D) R
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74. The Kalbeliya dance 1s from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer

P g ISR & 5 el | 82—

(A) SIEYR (B) SR (C) 3IAR (D) SR
75. Bagaru print is from the following part of Rajasthan -

(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur

g% Pl BUTE IGRF & fow g 9 2—

(A) YR (B) ¥RAYR (C) TITETS (D) FFIR
76. Bala Qila 1s located at-

(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran

1T far wal R g

(A) SRR (B) walg AENYR  (C) 3fefa (D) 4RI
77. Who i1s the longest serving Chief Minister of Rajasthan -

(A) Tika Ram Paliwal (B) Vasundhara Raje

(C) Ashok Gehlot (D) Mohanlal Sukhadia

ORI H 969 o 990 @ e J&H31 U8 IR $1d fhar 8-

(A) SIHRM Uleiidrd (B) IHERT TS

(C) 3MTMB TEA (D) ATl ST
78. Daulat Ram Saran was addressed in Rajasthan as-

(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja

SIeTd XM ARYT Bl ISR J T faar Sar o 98 dedhy—

(A) HETH (B) fam™i &1 el (C) 9 il (D) XIol

79. Rajasthan Vikas Party was established by-
(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram
IR fAarT urid] &1 R9AT &1 of—
(A) ISTAIET oIl TAI (B) g1 ¥E (C) ERT It IR=1 (D) BIeYM
80. Who is the speaker of 14" Vidhan Sabha in Rajasthan -
(A) Sumitra Singh (B) Ram Niwas Mirdha
(C) Kailash Meghwal (D) Shanti Lal Chaplot
1491 oI fRIE 1 @& FHEfa e 87
(A) gfF=T g (B) ¥ farg B (C) @ #edard (D) 3=l Iudid

81. How many periods of rainfall are there in Rajasthan?

(A) 2 (B) 1 € 3 (D) 4
IR H 991 T 989 fhd+! IR 8T 872
(A) 2 (B) 1 (C) 3 (D) 4
82. Indira Gandhi canal was necessitated by-
(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
SERT TN 8% Bl ATaTIhT B—
(A) 9T | (B) @<l ¥ (C) UMl & 49 |4 (D) Irdfels TH A
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33.

84.

35.

36.

87.

88.

39.

90.

91.

River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu

oAl Tl BT A I, 4 St ° 23—

(A) ¥TFIR (B) 3TN (C) Ti® (D) T

Famous Chand Baori 1s located 1n the district of-

(A) Kota (B) Bharatpur (C) Alwar (D) Dausa

gRie I 9gs! Reg g 7= e #

(A) BT (B) ¥RAUR (C) 3JIaR (D) T

Which city in Rajasthan 1s called ‘Blue City’?

(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner
STRIF H {59 3B &I Hidl B Hal Il 27

(A) SEIYR (B) 3THR (C) SRR (D) dIpmN

Garden Bada Bagh is situated at-

(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh
TS g7 91T Rerd 8—

(A) SiFeHR (B) ¥Icidrs] (C) STATATS (D) EIAME

Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-
(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prabhat (D) Rajasthan Patrika
oo g ufdiss, YoM & Wa=dT 991, S8F Uh 9HIRER U3 Hamer o 39 99 |9
ST ST 20—

(A) IRIE O (B) FdM YoiRE  (C) 9491d (D) IISTRIHE UG
Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.

(A) Malchand Tiwari (B) Harish Bhadani

(C) Vijay Dan Detha (D) Arjun Deo Charan

g9 d9dR PI heq IR IR IoRIE & &9 ows grT fordl 187?

(A) ¥Terag faand (B) BI3T AT

(C) faoa <™ qenm (D) 37T TF AR

Who among the following was awarded Padma Vibhushan from Rajasthan?

(A) Komal Kothari (B) Viay Shankar Vyas

(C) Natwar Singh (D) Naresh Chandra

ISR A 71 4 9 fod ged favuor |9 w#A1i=a fhar ram —

(A) BHA BIBRI (B) favra 3R &g

(C) R T8 (D) N T

Kamlesh Nagar Koti played for India Under 19 Cricket World Cup 1n the year -

(A) 2016 (B) 2015 (C) 2018 (D) 2014

HHIZ AR Pifc IRT SR 19 & fIva 9 § War &, 7= a9 # —

(A) 2016 (B) 2015 (C) 2018 (D) 2014

In Arid Desert of Rajasthan, India shares international borders with -

(A) Nepal (B) China (C) Pakistan (D) Afghanistan
ISR & I IR H 9RA AT AR - HHT AT HYdl 7, 79 & Rl —
(A) 9T (B) =9 (C) Ul (D) IHITERA
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92. North Aravalli Region of Rajasthan include the following district -

(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
IR 3Rl & H eI &1 74 e dfaferd & —
(A) < (B) RRIEN (C) ISR (D) <i®

93. Panchayati Raj system 1n India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (C) 1957 (D) 1956
G TSR]l $T AR AR H, ORI & RN | fbd 99 H gai?
(A) 1958 (B) 1959 (C) 1957 (D) 1956

94. Traditional leader of Meena community 1s known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
9T WG DT URERFETT Ad] 39 M 9 $HEI Sl 8 —
(A) Ud (B) ¥ Td (C) &I (D)

95. National High Way 8, which connects Delhi1 with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?

(A) 700 (B) 560 (C) 688 (D) 720
S AR GT 8 Gl fonll &l 498 | Siiedl & NOeIM | JoRdl & | I8 el H
fbem fobell HIer &7 272

(A) 700 (B) 560 (C) 6388 (D) 720
96. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
ISR H dea g d9g fererd &l RIY=T 85 9y —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
97. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
Y 2017 DT Hife HbTeH!, faoell BT ISTRIFT BT REGR 6 fFer —
(A) 91 v @ (B) <ifdsr g (C) =9 (D) RS siferan
98. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
gverel fqemdis &1 U= 94 99 H 8% —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
99. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
ISTRIT AMAIEIGR AART B U] Afacll JeUel b 2
(A) BT FART HSHATR (B) 94T TR
(C) == e (D) U1 HIO
100. The first Woman Chief Secretary of Rajasthan was -
(A) Meenakshi Hooja (B) Kushal Singh
(C) Otima Bordia (D) Amarjeet Kaur
IGTRRI Dl UM Higdll X0 |ieg 20l —
(A) HI=EIl golr (B) &3 g
(C) 3fifcHET gifear (D) 3RS BIR
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Part-C/911—4
Teaching Aptitude / Rreror sif¥eErdan

101. For a teacher to make a place in society -
(A) Must stay in political party.
(B) Must fulfill his obligation.
(C) Keeping one self active in the activities of society.
(D) Accumulating more money for becoming influential.
fRes &1 TS H RIF 9 & fold —

(A) 5 sofae aidt & g1 a1y |

(B) 39+ g1 &7 A anfey |

(C) ET &1 TRt & sra= &1 afsha =T a1y |

(D) 3iftrs | ISP e Ty HYp 9 YT BT o1 a1y |

102. As a teacher, you would like to devote your evening time to what work?
(A) In discussing politics (B) In entertainment work
(C) In other activities to earn money (D) In social work
U AeUUH & w9 H AT U] MM 1 9G9I 69 sl d F1HE1 948 B2

(A) XSIHIT DI Tdl B | (B) #ARwH &I H
(C) &= 9Iftd & 3= &l H (D) AMINTS &l |
103. A successful teacher 1s one who -
(A) Gives good marks (B) Checks homework regularly
(C) Keeps strict discipline (D) Remains aware about the progress of students
% BrTe 98l 8, Sr —
(A) 3B 3fH <dT 2| (B) Tafd s S@ar 7|
(C) POR I & & | (D) ©BE & W & 9fa ForT I8dT 2|

104. Which of the following criteria would you follow when punishing students -
(A) frequency and seriousness of offence.
(B) equal punishment for all without discrimination.
(C) only the seriousness of offender.
(D) only the frequency of offence.
A9 BT ®I g0 od 9AY 4 # | B Aucre &1 urers Hea?
(A) JWRE BT AT Td THRAT
(B) fa=1 fd Igvmg & i &1 W9 grve
(C) @dol JUREN PI THRAT
(D) SHdel IJAURTE DI AT
105. If a student regularly comes late in school then you will -
(A) Complain to his parents (B) Find out the reasons
(C) Remove student from school (D) Punish the student in front of all students

I U B AR faeray ¥ faod &9 3| 8, a1 —
(A) SH® AfFHrEas A Bremd a3 (B) $Hd BRUN BT gdl o TR |
(C) o o faarea & fame 39 (D) O ©E & IEH 99 goed Pl |
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106. When would you like to take additional responsibility as a teacher?

107.

108.

109.

110.

111.

NKP-2018 (Series-A)

For praise
For Co-operation

gt & ford
T=arT & ford

Society
Companion

A

(A) For new knowledge (B)
(C) For promotion (D)
RBres @ ®U § I He JfaRad SAReRd =T A8l ?
(A) O IH & ford (B)
(C) usE=fd & ford (D)
The best way to create awareness 1s through-
(A) Family (B)
(C) Books (D)
ATl UST & @ ford |@ad IR & —
(A) TRIR (B)
(C) TS (D)

T R

......... helps to increase the general knowledge of the teacher -

(A) Students (B)
(C) Newpaper-Magazines (D)
JAUP BT GH—3H g1 & I8P & —

(A) BHE | (B)
(C) U3—ufaN (D)

Main objective of education 1s -
(A) Development of language skills (B)

(C) Give punishment (D)
R &1 7@ 7@ S8 § —

(A) ¥HT DI BT fdH™ (B)
(C) <US &I (D)
Successful leadership is -

(A) Democratic (B)
(C) Group based (D)
AHd e BIAT & —

(A) USITATD (B)
(C) HHE 3IEmRd (D)

Fellow teacher
Family members

ARl U H
SICCIERS

Development of Social Citizenship
Personality development

AT ARTRGdT BT e
fdda f[dap™

Monarchic
Dictatorship

MNGIEED

SIRIEUE]

Teachers in the teaching profession do tuition because -

(A) Students force them to do this.
(B) Their greed for wealth has increased.

(C) Their Salary is low.

(D) With growth 1n their knowledge they want to disseminate it.
U FIAd H Reldh TP B B, i —

(A) BE 5= UG 31 & ol 99 &d B8 |
(B) SH®! eF—dAleddl 9 TS & |
(C) SdT Id9 &4 B |

(D) I & T H AWGlE B89 F 9 Y M BT YHR DT FEd o |
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112,

113.

114.

'

116.

117.

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

31T grRT BEl &1 <1 9 arell Brr = 9 gaftg 8 1 a1ty —
(A) T =g 8 (B) dsi=a @

(C) G¥hid Ud ARATH | Faferd &l (D) Sugad !

Depends on the teacher’s awareness -

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
ISP DI JANTOHAT IR HR HAT & —

(A) IJAUP BT ST (B) =A% &I e Rerfd
(C) IJ=UUPH DI &I (D) 3EAUD DI FHAYOId]

If there 1s a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
gfe wel ISHIfad 989 Bl Y8l B, dI 3T —

(A) fehd 9T ofF (B) 3IHg o

(C) T U el T 3R BN (D) a9 S8l <

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

S &1 @l fdb™ fhar &1 Fadl & —

(A) TRreror gfden v (B) wHIvT® ST &1 9RI HRID
(C) BEIA I & RAaBIFIBH (D) SADI &H TBR

The leader of the group can only give successful leadership when he will :-
(A) Be patient (B) Be disciplined

(C) Be serious (D) Berich

FHE BT =dl T4l H%el Aged & Fhdl B, 99 98 —

(A) B3I B (B) SFRIEA™ &

(C) THR B (D) & &8
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) In between
Sifee @I wfed faugag &1 Rrror o= =nfed —

(A) BHET & IJTAR (B) @vsi H
(C) d9r< H (D) dra—d= A
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118.

119.

120.

121.

122,

123.

124.

The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey (D) Bm::k study

Mhe THT 'ﬁf < d ﬂ‘*{lséill bl AHeYgY- Ch‘i"l el HCIITI"I HEH %

(A) BEl A A9 (B) IfMa®di @ HUd

(C) FHISIS AdeTol (D) UKD G

Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two
gl Avig—fEier R &=ar 8 -

(A) =T TR (B) oI TR

(C) =dr Vg Wa™, TFI WX (D) THl & 79 3ia: fohar «®

I often get angry when people -

(A) Do not agree with me (B) Talk about their own interest
(C) Blame some innocent (D) Quarrel with each other

! IR ShIET [T 8, Sd AR —

(A) B9 919 981 79d § | (B) 3= Wi & 919 &3 © |
(C) fosdr gy &1 g9 <d B (D) I9F H TS B B |

How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By 5pendmg more money on education (D) B y recruiting best teachers
Ren # PR 59 YR 99 g 8°

(A) YIS FER ERI (B) UNE ggfa # aRdad &
(C) Rrm R Ifte oF g b (D) &S REral o1 Fgfed ovd
If the students do not understand the text the teacher should -

(A) Explain again (B) Start next lesson

(C) Ta]k to Principal (D) Ask questions

BT B UG TH | Fal M UR AeqUS Bl dlad b —

(A) TART HASTRIAT (B) 3TTEAT UG IO P Gl

(C) Y= | d1d Bl (D) U= Yo

What should teachers do to get rid of theft habit in students -

(A) Explain ill effects (B) Explain with example

(C) Give punishment (D) Scold

BTEl H IR Bl IATEd GSH & ol EUS Bl a1 HRAT AT ?

(A) THERUM ga A1 (B) STIENU] THR JHSH I
(C) =T &A1 =1fed (D) OISl TP

Selection of subject requires -

(A) Scholarship (B) Educational guidance

(C) meessmnal guidance (D) Choice of students

fowal @ 999 @ ford maeasd & —

(A) fagar @1 (B) 3w fee™ &1

(C) g fAceM &1 (D) BTE B SO DI
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125. The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
JUTIP Bl I — AT BT TSR B! =P THBN! ITd Bl 8 —
(A) SfoE™ & qwial | (B) WHRIR—UA ¥
(C) ~fsar go=R | (D) fawg woqor A

126. While teaching in the class, the teachers should —
(A) Seek active cooperation of the students. (B) Keep the students as passive listeners.
(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.

S H Ugld 9Hy, Resl o Ity —
(A) B & Afhd TSI BT 9O Y| (B) BET &I FEpa Sari @ w9 § 9 |
(C) BE IR BIg &g 7 T | (D) BEI &I BicAEAl BT G B |
127. To motivate students in the class, the teachers should —
(A) always praise their students.
(B) always criticize their students.
(C) judiciously use praise and criticism.
(D) give such comments which neither indicate praise nor criticism.

FHeTT ° BEl &I URT a3 & forw, RBrIsl &1 IRy —
(A) BHIM A9 BTH B GIEAT BN |
(B) BHI AU BT B AT B |
(C) fod® | U3NAT IR JATA—HAT BT STANT BN |
(D) VI fewforat € &1 5 81 9RI8AT IR 7 &1 AN ST &Y |
128. During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.
(B) ask the student to come after period for the answer.
(C) scold him and tell him not to disturb the teaching.
(D) not pay any attention and continue his teaching .
FeT § UM & SRM Udh BT U Uudl &, Rels &1 A2y —
(A) SS9 dhlal 98l 9idE < |
(B) BF &l SR & foIU HTATST & 91 M B fIU &g |
(C) 9 S 3R W Pe BRI § IR ST 7 &Y |
(D) @Is €O 9 § 3R 3+ 1o &7 SIRT I |
129. The basic responsibility of teacher in the class 1s —
(A) to promote learning in the class.
(B) to extract school’s fee from the students.
(C) to arrange the records of the students of the class.
(D) to give extra importance to the students having tuition.
Fell H Red 31 9 RFgRI 8 —
(A) HeT ¥ IR BT I3 |
(B) ©HEI W [deTeld Y[ I |
(C) H&T & BHEl @ Rbre B AT BT |
(D) TYIE drel BT BI M Hawd AT |
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130. A class teacher 1s expected to behave with his students —
(A) more loving with intelligent students.
(B) reluctance towards poor students.
(C) equal behaviour with all the students.
(D) behaviour according to the expectations of the students.
U hel] BrIh Bl U4 B & TRI IdeR PN+ Pl SHIE & —
(A) IfEHH BET & A IAeD IR |
(B) TRE BET @ Yid 3eTd |
(C) I+ BEl & FRI 999 Id8N |
(D) Bl Bl SHIET & JTHAN TIER |
131. The teacher is considered to be the guide, because —
(A) he has unfathomable capacities to build the future society.

(B) he 1s a symbol of social belief.

(C) he is a guard to the society.

(D) he 1s indulged in giving shapes to frustrations.
fR7e1sh ST AFT T2b AT ST 8, Fifd —

(A) SO 9oy & | & fFEior &7 3ems &Hdr B |
(B) a8 "@MINi® fagar &7 udis & |

(C) 98 99 & folv U Y&aTell 8 |
(D) 98 FHoRIl Bl JHR o # foI<d |
132. Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
R0 &g ®U | ... ENT AT SFT =R

(A) DI AR yRRrer Rrrw (B) muf3rera ufdaal

(C) 3rgdt Rieap (D) gar yfpremelt safema

133. To inculcate human virtues among students as a teacher —
(A) you will not do anything wrong so as not to send wrong message to the children.
(B) vyou will reflect all those virtues, which you wish to imbibe.
(C) you will continuously tell them and make them understand.
(D) you will bring change in the children to suit the present context.
U REd & ©U | BE ° AFMT— &I [d6fid &1 & fog —
(A) 3T HB I Teld T2l Bl dlfds =2 DI Teld Fagl A M |
(B) 39 391 41 0N &I gfafdfdd &, g 3 ATHATT HRaET AiEd = |
(C) 3T S& AR Id19T IR S8 FASN |

(D) 39 TIA HWeH D IHY gl H geolrg AT |
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134. The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.
H&T BT A BHET I1_Y —
(A) H&T BT FIH Arpg e | (B) PrIs &1 wrT faame’ |
(C) & o1 |gd vfaaemetr faemefi | (D) e &1 afedal faumd|

135. Teacher can develop moral values in students, because —
(A) Teacher has ability to motivate students.
(B) Teacher 1s role model for students.
(C) Students have fear for teacher.
(D) Students follow every instruction of teacher.

e Bl # Afde qedl &1 f[Asid & Gad 7, Hifd —
(A) PRrre & et &1 9T &= &7 e=dar 8|

(B) PRwrre foenfia & forg st 8

(C) foenfeiat & et & ufa wa =T |

(D) faameft Rrre & yde s &1 9Ta7 &=d 2 |

136. Suﬁ:pnse a gifted student 1s sitting in the class and gives quick answers to all your questions.
What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this 1s an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

HE NIfSTT 3TTUST P&l & Th YTaTeITell BTF d93T & AN 31U I g3+ & aRd SO

SdT & 31U 30 BE & Gael A JT HI?

(A) MY TEATHS BU H Hicd Jed Y8BT AR I iR 7 81 & forg AT |

(B) 39 @A & fb 99 QR @l STR © <A =IMBY ol 319 AU+l FreiRal | o
&l 9D |

(C) 39 I Fedl & FeT # iR 8FT SFUgad IIER & |

(D) U faemell | e Sfied yea gt 9y 89 I8 (BN 8l {6 3 |69 3
fR1eThl § 9 U % |

137. This 1s believed that female teachers are more suitable for primary level teaching because —

(A) They work patiently and affectionately with children.
(B) They have less opportunity for other professions.

(C) They agree to work on low salary.

(D) There 1s no need of high qualification for this profession.

g8 AFT ST 7 & Afgar Ree griffe @R &1 Rrn o oy sfte Suga B, Hife —
(A) 9 9= & FRI eRYd® AR UR H HH B! ¢ |

(B) S9d U9 30 AN & folv &9 g B |

(C) I &Y da9 TR B P D o7 I8qd 8l B |

(D) 39 U3 & folv S=g Iiadl &1 @l AEAHAT 8l o |
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138. When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —
(A) You have given an effective instruction.
(B) The message has been received by the receiver.
(C) The message has been well explained by you.
(D) The receiver is ready to accept your order.

o9 AU fHd ufdd &1 gRareT @€ B BT 39 od 8 IR 98 Fels 9 MY &1 U
&Yl & dI T sy HaTerr W1 9&ar & b —

(A) 94 TS gl sy fear 2

(B) <3 UTEI gRT 9t fhar I 2 |

(C) A9 \I Hell Hifa e fhar 2

(D) UTE! JATUP AR DI WIHR HIH P o7 IR B |

139. Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class — room interaction
HeT BT A FIR iR Fxar & —

(A) RBrie o e d3H &I &9dT O3 (B) fowa &1 wfeqs v «®
(C) foenfeat & graar w (D) et 3 fehar o=

140. A teacher should —
(A) Earn money as much as he can.
(B) Make efforts for educational upliftment of students.
(C) Work for students benefits.
(D) Take care of students.
U T &1 AT a1?y —
(A) IfErPpIfEE d93T1 § o9 HHMET |
(B) ©EI @ 3eid A & v ga™ |
(C) BHETl & f8gd @& & |
(D) BHEl & @ |
141. The reason of highest rate of dropouts in rural areas is —
(A) Irrelevant curriculum
(B) Poverty
(C) Eagerness for quick employment
(D) Inappropriate interpersonal relations with teachers

OTHT &1 # fRrerd e arell &1 Wdiftidh Y BT BRI 8 —
(A) IYTNERTS UISTHA (B) T
(C) RT RASHR & ferg TG (D) Rl & |RI JJugdd IRWNG Hael
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142. How can a teacher establish warm relationship with his students?
(A) Always laughing with them.
(B) By making suitable distances.
(C) By hearing their difficulties and resolving them.
(D) By making students his friends.
Us RElsd oru 8=l A MR Hal [ R RIfUd R Adhdl o7

(A) S99 Had B4 AGH HID |
(B) T-H S g gT1N |
(C) T HARRI Bl FA1 & 91 IAd] S B |
(D) BT Bl J94T 97 g91H |
143. If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.
(B) Keep them off.
(C) From time to time meet their difficulties as needed.
(D) Send them to another teacher.
afe oo MM o3 Aud ifiRed w9 # ugHr 9r@d g, al 19 —
(A) S9! TIE o @ oy T8l |
(B) S= <Tad &1 |
(C) JATFLYHAT JTIAR AT FHY TR Id| BicARIl Bl GRT DI |
(D) S= f&dl o RBretd & U S |

144. During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

3if&s I & TR 487 B S8 DI oid) (P B (B3l 9§ H TS dodl &, al H —
(A) BT BT U& 1| (B) S GHITST b gSI BT ATEX B

(C) S FSE HHIT| (D) fue™ & oy s@e |

145. It 1s necessary to give details of the student’s progress to the parents so that —
(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.
(C) This keeps children 1n fear.

(D) Children can not give wrong information to their parents.

BT B WA BT DRT JFATGDT Bl <A1 ATTTD & —

(A) 3O JfPTESH U9 g== BT GG S Fhd 2 |

(B) U JAMIGD Bl TYIM o Bl Iid Falg Herdl 7 |
(C) =99 9=Af § ©¥ 941 ¥&dT © |

(D) d=a JAMTaHT BT ToAd JATHBNT Aol & Thd |
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146.

147.

148.

149.

150.

If you are evaluating, then you will —

(A) provide marks according to the work.

(B) give more marks to those who study tuition from you.
(C) give rich students more marks.

(D) give more marks to weak students.

Ife 39 HeAidh= B B &, Al AT —

(A) B & JTAR &l 3P UG BN |

(B) T2 /b 3 < Sl U ST Ued = |

(C) 3IHR BEI Bl AP b |

(D) fuoe o=l 3 AP 3d 37|

A teacher should use audio visual material, because —

(A) Student’s interest 1s created in the lesson.

(B) The focus of student’s attention remains in learning.

(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.

U IMEYTUh I GI—T AU BT YR DHRAT MY, il —
(A) BT &I e § B v&dT B |

(B) BEI &1 &4 UgTe H di~ad I&dl & |

(C) 3T &I IRAfdd WY YSTH &Y+ g Uie # fafderar o= d 98s 8l & |

(D) SURIFd FHT |

Class—room communication should be —

(A) Teacher—Centered (B) General-Focus

(C) Learner—Centered (D) Test book—Centered
HET—Hel TR AT F1BY —

(A) Bre wfed (B) WM dfvad

(C) ©BF Disd (D) UIGIYd divaa

While using ICT with teaching in class —

(A) No teacher will be required

(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator

(D) Teacher’s role will be central

hell R # ICT 9gad dRd aHd —

(A) IS B ATTLIHAT ol =] |

(B) UG & foly HRMR A’IH B YT
(C) IS DI AP GH<TH D ®U H & |
(D) JAUDH B HABT D=1d &I ST |

The status of teachers in the society should be high because they -

(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.

a1 | BrIel &1 R &I 8FT1 Iy, ifd d —

(A) IIIEIF RIS BRI B 8 | (B) ¥ @ & 9 Aed g |

(C) 97t IFTR®T BT TIR B 2 | (D) 3IfrF $9 B 2 |
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Part-D
Language Proficiency-English

Direction : (Q.151) Choose the option that is correct-

151. The teacher was too angry that she left the classroom-
(A) The teacher was very angry that she leave the classroom.
(B) The teacher was so angry that she left the classroom.

(C) The teacher was too angry and she had left the classroom.
(D) The teacher was too angry but she leave the classroom.

Direction : (Q.152) Choose the option with the word that is closest in meaning-

152. Abandon-
(A) Try (B) Join (C) Forsake (D) Adopt
Direction : (Q.153) Choose the option with word opposite in meaning-
153. Entangle-
(A) Twist (B) Untwist (C) Hook (D) Impede
Direction : (Q.154) Choose the correctly spelt word-
154. (A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat

155. Person who loves books and reading -

(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist

Directions : (Q.156-159) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for

good and evil, 1t 1s essential, as never before, that their gross ignorance of one another

should be diminished, that they should begin to understand a little of one another’s historical

experience and resulting mentality. It 1s the fault of the English to expect the people of other

countries to react as they do, to political and international situations. Our genuine goodwill

and good intentions are often brought to nothing, because we expect other people to like us.

This would be corrected if we know history, not necessarily in detail but in broad outlines, of

the social and political conditions which have given to each nation its present character.

156. Mentality of a nation, according to the author, 1s a productof ................

(A) Present character (B) Politics (C) History (D) Geography

157. The character of a nation 1s the result of its-
(A) Ignorance (B) Cultural heritage
(C) Socio political conditions (D) Mentality
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158. The need for a greater understanding between nations-

(A) 1s more today than ever before (B) was more there in the past
(C) 1s no longer there (D) has never been there
159. ‘Genuine’ 1n the passage means -
(A) Historical (B) Political (C) Real (D) Fake
Directions : (Q.160 - 162) Choose the correct alternative -
160. ............... car must be insured.
(A) A (B) An (C) The (D) All
161. Everyone expected the same team ...............
(A) to win (B) was winning (C) won (D) will win
162, L1600k 1008 v onssnsuonsns [ expected.
(A) though (B) but (C) than (D) then

Directions: (Q. 163 -164) Change the following sentences as directed in the brackets-
163. Only a coward would say so. (Transform into Negative)-

(A) Noteven a coward would say so (B) None but a coward would say so
(C) A coward would only not say so (D) No coward would say so
164. Mohini 1s more beautiful than Mitali. (Use positive degree)-

(A) Mohini 1s not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali 1s not as beautiful as Mohini. (D) Mitali 1s as beautiful as Mohini.
Directions: (Q.165) Choose the correct Tense-

165. I......coooiiiiill. the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching

Directions: (Q.166) Change the Direct narration to Indirect narration-
166. She said to me, “What are you doing”?”
(A) She asked me what was I doing (B) She asked me what am I doing
(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.167) Choose the correctly spelt word-
167. (A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-
168. A person with long experience of any occupation-

(A) Veteran (B) Wizard (C) Genius (D) Expert
Directions: Choose the correct Synonym of ‘Eradicate’
169. (A) Emerge (B) Uplft (C) Remove (D) Increase

Directions: Give the correct Antonym of ‘Compassion’-

170. (A) Anxiety (B) Hatred (C) Connection (D) Conducive
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171.

172.

173,

174.

173,

176.

L7,

178.

179;

180.

181.

182.

183.

HRT—Q
AT 4T - fa=d

JoT Gfer BT T arelT faped 2—

(A) g (B) ws™H (C) Tarsi (D) #HBICH™
fa=forRaa & @ oi9ar afer fo=ee wg! =81 8—

(A) 3T + 9B (B) YW + 3@ (C) fa+ &= (D) &+ =3
DI IeC BT Fal Jad fous 2—

(A) Diel & fov &= (B) whisT &1 &3

(C) ISl IR &3 (D) HIST AR &F BT FHE
HHERYT FAN &I €91 1T fdded 8—

(A) ATTHIA (B) e+ (C) 3RO (D) AGGE]
A, B9 3R IJ1E’ B I ITeAT STAT 28—

(A) SU (B) 319 (C) 9fd (D) 3
sl v & SUEI ¥ 997 IS B—

(A) TFHR (B) *RUS (C) 3MEIh=dl (D) BRI
Tgarad dfgd 900 9 g9 36§ Bl 9 drell fdhea 8—

(A) UFER (B) e9amM™ (C) AT (D) dBHSER
T BT T ATAT I8 A8l B—

(A) UGH (B) =¥ (C) B (D) Iddg
DIl TG FHE ‘BHA BT YIIArET B—

(A) 3™, Iadh, Aleldl (B) fafdmy, sy amemg

(C) <3raf+, &roft, afesr (D) Hfo™, MRy, I

fQure vt &1 fouianis g 32—

(A) ¥§ (B) aR&™ (C) 3TECTS (D) ¥fe

ST fdpeg faei™ eregl &1 F81 g30dT 8—

(A) S E—faq@ (B) TIRA-AEAT  (C) WIR—JIR (D) NIRRT
RR—ER weg gl BT 3fed BT B—

(A) WNIhTCT—THS] (B) dgd 993 dd— TH

(C) Hhe—q&hTA (D) Je— P

Sl T, JHAT 98dl &, 98 Q¥ SUGS & | I19 a—

(A) WRIRY 9@y (B) Wgad 9™ (C) 9% Iy (D) foeEmEs 9™

184. 771 # 9 59 ey & W+ I gE ©—
(A) YUTd:&HTA, IFEga- (B) Hil, <1
(C) fagHl, siHal (D) drcHIfd, SHTS
185. 3MY[E 1T B—
(A) T UR HIaT 91 & & | (B) T & gfEHAM dIfeidl & |
(C) B8Rl R 8IeT & TJ | (D) A ATdHdIl HRT 74T |
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186.

187.

188.

189.

190.

191,

192,

193.

194.

195.

196.

197.

198.

199,

200.

fHHl I DI UM DI Iche ATl bl T eIl HBTART o—

(A) 3@l J T (B) & IR B

(C) JTEl H T IaxAl (D) SR GarT

“BHRI—PNE R g€l 9HIL IR BT W oo T e P18 BT WE HIAT
a7

(A) =fs (B) TSI (C) drefl (D) fafg

=1 | argfg omeRe wve B

A) +9Yy=8& B) d+¥=3F (C) T+I=%5 D) FY+I=4%
dcaH—TgHd BT 37YE I o—

(A) 3T (B) JFMI-3FSMT (C) Vol—goar@=l (D) Tfe—ge

I TS PR | A9 H BT g 2

(A) 9N Hdbldd (B) AMES Hadlad (C) Y0l Yabid (D) HHER A Dol
7 ¥ \agaEs AET T8l 8-

(A) =OA (B) <Rl (C) 495 (D) Tehdl

“gen fRA—1a ugd! & dife S9aT ufaarfl oden § 99+ 81 WY | Y@ifdhd 9g a—
(A) L IRIB Y (B) S dEID AMEIDHRUT FH==d diEID
(C) THMIERNYT WH== g qIElh (D) fouma

TH S AT IE o | 9 H I GANT o—

(A) TUdhdd- (B) 9gd=

C) Udhddd & RIF WR g8ga (D) 9 BgIT & RIM R Yhadn
Sard yag 9 g veg =81 38—

(A) IRgap (B) usIR= (C) T84 (D) YIS

=1 # a[g Tgigarl 9E B

(A) Tf31, IST=1, arfE=l (B) 3l Y1y, e

(C) ey, fBHTY, 9IeNs (D) ¥IRS, gk, Selq

=1 # argfg fAudiarl g 2

(A) UeT—yfaueT (B) IMRdep—aRd® (C) Wi—Red (D) WAIAT—3NHERN]
gqdd, ¥ favy, i, 94, 97 {59 sari @& ol B

(A) TR (B) =T (C) ¥{TEhY (D) ¥ERT

(€ ATAIYT dIETdh T Tl o
(A) S SdT | T 96 : 379y

(B) JATHTIT § S dTell : &

(C) g forar g3 : << (D) it fiRT 831 8 gfod
GFEAM B BT 7Td° IRfARG TETaRT 5—

(A) I BT A (B) 3dcT TR UR T
(C) 37T & =S GIS™I (D) 37l BT Yool

“FHag FRIMY 8- 9 S| Aldiad B 31l g—
(A) I BT A=ar 3y F9<T 81 Srdl 81 (B) T AUl goedl A8l Bredl |
(C) T & ARI X1 FIER HRAT| (D) @Y AR T ¥ W8 UN I & |
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H—«q

HIYT IRl : G¥hd

171. YR STRY RIFHNRG—

(A) I (B) e (C) T=m (D)
172. S8 9T 3Ra—

(A) THR: (B) THR: (C) SFR: (D)
173. “9ca: fha@er ... F91 )" Rt R+ HJafd—

(A) €ITq; (B) SO (C) febar (D)
174. F¥hd SUHIL BicT?

(A) IT<TEI (B) <arfaerf: (C) UopHfaefa: (D)
175. '<TH TARA U Jhiaugal IRT—

(A) &1+ Tq (B) © + Tq (C) <+ g (D)
176. “gairgd foeimd gfa ... " Raa we aiRea—

(A) &G (B) < (C) I (D)
177. 99 SANAT s Yhio9cadr INT—

(A) g+ 79 (B) &M+ 7vq  (C) @M + v (D)
178. HAHHEIRT TTSHHIART AER: BREH ... TI—

(A) &H: (B) H™EHH (C) IMUEHH (D)
179. JUTCHIRIARSRIAGETd dRS BT Hsl W12

(A) UEHEH (B) HARGHH (C) &H (D)
180. HEAYAl &: FHN:?

(A) FHIRY (B) 3rgdrTa: (C) g (D)
181. ‘TAUgH' @3 FHNES A fHHq?

(A) <a=d fu (B) fasa1 (C) =A<Iaed (D)
182. TI9Iol faer=vr ggoiq’ I SCBRUHRG—

(A) T (B) HY (C) wrefrcged (D)
183. AW SHI' 3 BT Wl Fa<id?

(A) fo (B) I (C) TETq (D)
184. TR ITAT T UG VBT oo, BT ATEL?

(A) &cH (B) =oITH (C) fa=: (D)
185. Ui U GdURIRG] BT QY RITd—

(A) gg= (B) eI (C) o (D)
186. ‘Rraised:’ sURH- IS dAfe-fazue: &7

(A) RBar+ 3= (B) RBraq + 3= (C) R + = (D)
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187

188.

189.

190.

191.

192.

193.

194.

195.

196.

. @ g [AEfeaRe STHISTR gidde Y Hiasgfa—

(A) TF (B) M
Toug gfd ue argeie R TRG—

(©)

A

(D)

HYId

(A) ¥l + dICa®R (B) #I + dcaddR (C) I + dgdar (D) HI + fIRfasaaR

I IS Al e wafRa—
(A) M (B) MY
Y arefg aTaaHRa—

(A) SETHE9E:

(C) SURINT 3Mefid

“BRBIOT Haf~d—

(A) 9= (B) §<S
TeAsT faemaes g 3iiRa—

(©)

(B) Tuqsa: waenm

(D) BTHU YA USTH:

(€)

R

(D)

ESk]

(D)

XIHIYIH

b,

3

(A) SMEY=T Hed(B) TellSH=RI WAL (C) giae < ugH (D) U Ai-opy: diedr

ggdiie TATARI GeIT SIeTor 3Ra—
(A) STRUYSRIVE: (B) YJUGRIVEN:
T g wdfa—

(A) RIq—ITHH (B) dG—addqg
Teh:’ SIRAT UQ Ubfaucadl INT—
(A) SR + 3R (B) SR + 3]
Y GrRY IE—a1agH JART—

(A) HE prRISHSEa

(C) IHH BEISHSEI

197. ‘Urdss:’ sfa uey aifd=ss: Rkda—
(A) U + 3[F: (B) Ul + 3
198. TifidepdR: &:°
(A) 1T+ (B) Ydqifel
199. MR YIAT Bidider Ffed?
(A) ffaer (B) =Iqfder:
200. Bl Tqi—ggdeq ®Y Afdia—?
(A) HATIH (B) Wols:
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(©)

(€)

FodT—cdY (D)
R+ (D)
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BT (D)
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